CHEMISTRY
NAME: GRADE:

PERIOD: TEST REVIEW - ADDED PRACTICE

1. A substance is 40.2 % K, 26.9 % Cr and 32.9 % O. What is the simplest (empirical) formula?
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2. If there are 24 grams of O atoms in a sample of Na;POy, what is the mass of Na in the sample? What
is the mass of the total sample? e
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3. How many sigma and pi bonds are present in each of the following?
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4. Using only your periodic table, rank the following from smallest atomic radius to largest.
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5. Which of the following metric units is used to indicate the size (diameter) of atoms?
a) centimeters b) millimeters c¢) nanometers @ Angstrom (A) 10 w,’f L
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a) 1250mm = (230 cm b) 3970om = 7.00 577 mm
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8. 3 moles of H; gas react w1th 2 moles of O, gas to form water. How many moles of water will form?
You must write a balanced equation for this reaction first. (/) ./ / 0 —= < H.O

4 moles ) moles .0 S Mol
3 molts 2 mbie i y S mole L

2 moles H; i v\

A moles Uyt 2 mote Hy) T RS o o
ey ‘.Zz Sl il -~ T motss H;U \
Imole (), :

o as ll 1» 1 - [ ( ‘ oo {
Blways @ hoose Smalily 1T ryfre 540 — Mt :
] : ol 8 ! ey LA S
Loy limrting 1t ~‘§“f“£’
| 208 o v

9. How many unpaired electrons are in each of the following?
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10. Which of the following solutions would show the greatest colligative effects (boiling point elevation,
freezing point depression, vapor pressure reduction).

ST N
02MNaOH 02MBaC, [(02M AlCl;) 02 M Na,SO, 0.2 M NH,CH;0,
A3 ¥ 301" o - ssolved Y patiches biggesT oty ot

AlC!
3
11. Predict the molecular shapes and bond angles for the following compounds or ions:
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1t 12. Match the compounds on the left with the molecular shapes listed on the right. What bond angle is
o associated with each molecular shape?
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13. Match the compounds on the left with the predominant intermolecular force from the colurnn on the
right. Each choice may be used more than once.

INTERMOLECULAR
COMPOUND FORCE
C 1 ar A) Dipole-dipole atiraction
A 2.co B) Hydrogen bonding
B 3. H;,O C) London dispersion forces
C 4 cH
£ 5 HF
14. What are the pH and pOH of 2 0.002M HCl solution?
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15. Which of the following might represent H,PO, acting as a weak acid? A

LK (The Ka equilibrium expression)
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Which of the above would represent H,PO, acting as a weak base? 2,
(The Kb equilibrium expression)
16. Which of the following represent conjugate ac1d/base pairs? DIFFER BY I H* o : 5
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17. Which of the following can act as both a Bronsted-Lowery acid and base?
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18. WA 10.0 g chemical sample contains only phosphorus and oxygen. if the mass of phosphorus is 5.63
grams, what is the empirical formula for this compound?

3 / [ male . 0,273 mole o
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19. What are the numerical values (and labels) for STP? ok 2T and 2U Tore
20. Match the following elements with their correct chemical group.

A 1. Iithiom " A Alkali Metals

C. 2. fluorine B. Alkaline Earth Metals

£ 3. nickel C. Halogens

D 4. krypton D. Noble Gases

B 5. barium E. Transition Metals
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21. What is the molarity of a solution in which 10.21 g of sodium bromide (GFW = 102.89¢g) are dissolved

mEenough liquid to make 500 mL of solution?
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22. Identify the element oxidized, the element reduced, the oxidizing agent and the reducing agent in the
following redox reaction.
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2Mno4"(,,q) + SHS0seq + HY <> 2Mn+2(,,q) + SHSOs g + 3H;0
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23. Predict the effect of each of the following changes on the Keq (ak.a,, Also Known As K or Kc) of the
following equilibrium reaction. (circle one)

N2(@g + 3 Hz(g) <====> 2NHz({) + heat

Keg 15 GONSIANT AT Given T CIRCLE ONE
e
a) Increase in temperature increase Keq @ Keq unchanged
b) Decrease pressure increase Keq decrease Keq (Kegq unchanged

c) Increase H, concentration increase Keq decrease Keq  Keq unchangéd

d) Decrease H, concentration increase Keq decrease Keq | Keq mchmged

€54 In which of the following reactions would the entropy (2 §°) value be positive, negative, zero?

AT
g  AgCly —> Aglw + Uy t+)
b)  2Hypy + Oxpg —> 2H:Og as (-)
0  2H0p —> 2H:Oy 49
d) 2Hl, <> Hg + he '
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